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2. I FIGURE EX2.12 shows the velocity-versus-time graph for a
particle moving along the x-axis. Its initial position 1s x, = 2.0 m
at 1, = 0 s.

What are the particle’s position, velocity, and acceleration at
t=1.0s?

v, (m/s)

FIGURE EX2.12

Provided Solution

2.12. Solve: Using the equation
X; = X; +area under the velocity-versus-time graph between 7, and #;

we have

x(att=1s)=x(at =0 s)+area betweenr=0sand =1 s
=20m+ (4 m/s)(1s)=6m

Reading from the velocity-versus-time graph, v (at 1 =1s)=4 m/s. Also, a, =slope =Av/At =0 m/s”.
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